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BT A B B/A% C C/B% | RFELR R gf&% 3 1,2 AIS OFR | & L D/B% D/A% E F F/E% G G/F% | B4 | zo | EBE | ORI %L H/F% H/E%
BORor 2 OE 1,469 65 4.4 49 75.4 0 0 0 8 18 0 14 9 0.00 | 0.00 93 3 5.7 3| 100.0 1 0 0 1 1] 33.33 1.89
K O OF tHr £ =2 2 % 2,844 94 3.3 86 91.5 0 0 1 S 18 0 28 34 1.06 0.04 107 12 11.2 12 | 100.0 0 0 0 1 11 0.00| 0.00
w o2 B & 4,313 159 3.7 135 84.9 0 0 1 13 36 0 42 43 0.63 0.02 160 15 9.4 15| 100.0 1 0 0 2 12 6.67 0.63
BORor 2 OE 1,005 49 4.9 46 93.9 0 0 0 S 14 0 15 12 0.00 | 0.00 12 0 0.0 0 0 0 0 0 0 0.00
¥ MH Thir £ 2 2 = 1,480 27 1.8 25 92.6 0 0 0 2 4 0 9 10| 0.00| 0.00 10 1 10.0 1] 100.0 0 0 0 0 1 0.00| 0.00
w72 B # 2,485 76 3.1 11 93.4 0 0 0 7 18 0 24 22 0.00 | 0.00 22 1 4.5 1] 100.0 0 0 0 0 1 0.00| 0.00
BORo7 2 OE 405 19 4.7 16 84.2 0 0 0 4 5 0 4 3 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
*xOW HI®R £ 2 3 o= 783 13 1.7 12 92.3 0 0 0 0 3 0 S 4| 0.00| 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w =72 B % 1,188 32 2.7 28 87.5 0 0 0 4 8 0 9 1 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
R OR ®OE 596 26 4.4 21 80.8 0 0 0 3 10 0 3 5 0.00 | 0.00 3 1 0.0 1 0.0 0 0 0 1 O( 000| 0.00
INE E TR £ 2 B & 2,199 38 1.7 36 94.7 0 0 0 S 6 0 12 13 0.00 | 0.00 1 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w72 B % 2,795 64 2.3 o7 89.1 0 0 0 8 16 0 15 18 0.00 | 0.00 4 1 0.0 1 0.0 0 0 0 1 O( 000| 0.00
R OR ®E 92 2 2.2 2 | 100.0 0 0 0 1 0 0 0 1 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
W B OHR® £ 2 2 & 806 8 1.0 6 75.0 0 0 0 1 1 0 1 3 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B % 898 10 1.1 8 80.0 0 0 0 2 1 0 1 4( 000( 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
BORor 2 OE 173 4 2.3 3 75.0 1 0 0 0 1 0 0 1] 2500| 0.58 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
XK % Hg £ 2 2 & 473 6 1.3 5 83.3 0 0 0 0 2 0 1 2 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B # 646 10 1.5 8 80.0 1 0 0 0 3 0 1 3| 10.00| 0.15 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
R R 2 E 3,740 165 4.4 137 83.0 1 0 0 21 48 0 36 31 0.61 0.03 68 4 9.9 4| 100.0 1 0 0 2 1] 25.00 1.47
%ﬁﬁ @E@ﬂ% g R ¥ & 8,585 186 2.2 170 | 914 0 0 1 13 34 0 o6 66 0.54 | 0.01 118 13 11.0 13| 100.0 0 0 0 1 12| 0.00| 0.00
w2 # & 12,325 351 2.8 307 87.5 1 0 1 34 82 0 92 97 0.57 0.02 186 17 9.1 17| 100.0 1 0 0 3 13 .88 | 0.54
BORo7 2 OE 1,941 12 3.7 61 84.7 1 1 1 3 30 0 14 11 417 0.15 118 3 2.5 3 0.0 1 0 0 1 1 0.00| 0.85
Oi=bahme # 2 2 & 3,337 78 2.3 16 97.4 0 0 0 2 36 0 15 23 0.00 | 0.00 475 16 3.4 16 | 100.0 0 0 1 1 14| 000 | 0.00
w o2 B % 5,278 150 2.8 137 91.3 1 1 1 S 66 0 29 34 200 | 0.06 993 19 3.2 19 | 100.0 1 0 1 2 15 5.26 0.17
BORor 2% OE 972 20 3.5 18 90.0 0 0 0 0 10 0 6 2 0.00 | 0.00 36 2 5.6 1 50.0 0 0 0 1 O( 000| 0.00
B B Mg =232 3 2,769 42 1.5 38 90.5 0 0 0 1 11 0 8 18 0.00 | 0.00 332 1 2.1 71 100.0 0 0 1 1 S 0.00| 0.00
w o2 B % 3,341 62 1.9 56 90.3 0 0 0 1 21 0 14 20| 0.00| 0.00 368 9 2.4 8 88.9 0 0 1 2 S 0.00| 0.00
BORo7 2 OE 2,513 92 3.7 19 85.9 1 1 1 3 40 0 20 13 3.26 0.12 154 5 3.2 4| 80.0 1 0 0 2 1] 20.00| 0.65
%é%%%% g 2 ¥ & 6,106 120 2.0 114 95.0 0 0 0 3 47 0 23 41 0.00 | 0.00 807 23 2.9 23 | 100.0 0 0 2 2 19 0.00| 0.00
w72 B % 8,619 212 2.5 193 91.0 1 1 1 6 87 0 43 54 1.42 0.03 961 28 2.9 27 96.4 1 0 2 4 20 | 3.57 0.10
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BT A B B/A% C C/B% | RFELR R gf&% 3 1,2 AIS OFR | # L D/B% D/A% E F F/E% G G/F% | B4 | zo | EBE | ORI 5L H/F% H/E%
BORor 2 OE 454 11 2.4 9 81.8 0 0 0 2 3 0 2 2 0.00 | 0.00 6 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
EEXKHBHMRE €« 2 2 & 1,274 11 0.9 10 90.9 0 0 0 0 2 0 4 4( 000( 0.00 15 3 20.0 3 0.0 1 0 2 0 0| 0.00 6.67
w o2 B & 1,728 22 1.3 19 86.4 0 0 0 2 o 0 6 6 0.00 | 0.00 21 3 14.3 3 0.0 1 0 2 0 O 000| 476
BORor 2 OE 690 28 4.1 23 82.1 0 0 0 2 I 0 9 S 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
M I Thie £ 2 2 = 1,633 17 1.0 17| 100.0 0 0 0 0 3 0 5 9 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w72 B # 2,323 45 1.9 40 | 88.9 0 0 0 2 10 0 14 14| 0.00| 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
BORo7 2 OE 645 29 4.5 27 93.1 0 0 0 6 11 0 3 I 0.00 | 0.00 3 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
EEXEheE £ 2 2 & 1,854 13 0.7 10 76.9 0 0 0 0 6 0 2 2 0.00 | 0.00 S 1 20.0 1] 100.0 0 0 1 0 O( 000| 0.00
w =72 B % 2,499 42 1.7 37 88.1 0 0 0 6 17 0 S 9 0.00 | 0.00 8 1 12.5 1] 100.0 0 0 1 0 O( 000| 0.00
R o7 % OE 117 3 2.6 3| 100.0 0 0 0 1 2 0 0 O( 000| 0.00 3 0 0.0 0 0 0 0 0 0 0.00
X F Hg & 2 2 % 304 6 2.0 6 100.0 0 0 0 0 1 0 1 4( 000( 0.00 6 1 16.7 1 0.0 0 0 0 0 1 0.00| 0.00
w72 B % 421 9 2.1 9 100.0 0 0 0 1 3 0 1 4( 000( 0.00 9 1 11.1 1] 100.0 0 0 0 0 1 0.00| 0.00
R o7 2 E 1,906 71 3.7 62 87.3 0 0 0 11 23 0 14 14| 0.00( 0.00 12 0 0.0 0 0 0 0 0 0 0.00

= EXE
Y m.‘ﬁ:’é g 2 ¥ & 5,065 47 0.9 43 159 0 0 0 0 12 0 12 19 0.00 ( 0.00 26 S 19.2 5| 100.0 1 0 3 0 1] 20.00 3.85
w o2 B % 6,971 118 1.7 105 89.0 0 0 0 11 39 0 26 33 0.00| 0.00 38 5 13.2 5| 100.0 1 0 3 0 1] 20.00 2.63
BORor 2 OE 2,151 99 4.6 80| 8038 1 0 0 4 30 0 20 25 1.01 0.05 104 1 1.0 1] 100.0 0 0 0 0 1 0.00| 0.00
H i ttig &« 2 2 % 3,090 63 2.0 98 921 0 0 0 1 20 0 11 26 0.00 | 0.00 393 5 1.3 5| 100.0 0 0 1 2 2 0.00| 0.00
w o2 B # 5,241 162 3.1 138 85.2 1 0 0 S o0 0 31 o1 0.62 0.02 497 6 1.2 6 100.0 0 0 1 2 3 0.00| 0.00
BORor 2 OE 311 17 5.5 14| 824 0 0 0 2 4 0 6 2 0.00 | 0.00 2 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
= & Thig &£ 2 2 & 607 4 0.7 4 | 100.0 0 0 0 0 1 0 1 2 0.00 | 0.00 13 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B % 918 21 2.3 18 85.7 0 0 0 2 o 0 1 4( 000( 0.00 15 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
BORo7 2 OE 423 12 2.8 11 91.7 0 0 0 1 1 0 2 1 0.00 | 0.00 4 0 0.0 0 0 0 0 0 0 0.00
dt % W e £ 2 2 & 834 6 0.7 S 83.3 0 0 0 0 0 0 3 2 0.00 | 0.00 12 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B % 1,257 18 1.4 16 88.9 0 0 0 1 I 0 5 3 0.00 | 0.00 16 0 0.0 0 0 0 0 0 0 0.00
Ro2 2 E 2,885 128 4.4 105 82.0 1 0 0 7 41 0 28 28 | 0.78 0.03 110 1 0.9 1| 100.0 0 0 0 0 1 0.00| 0.00
%ﬁ{% @gﬁ g R ¥ E 4,531 73 1.6 67 91.8 0 0 0 1 21 0 15 30 0.00| 0.00 418 S 1.2 9| 100.0 0 0 1 2 2| 000( 0.00
w2 % & 7,416 201 2.7 172 89.6 1 0 0 8 62 0 43 58 | 0.50 | 0.01 528 6 1.1 6 100.0 0 0 1 2 3| 000( 0.00
BORo7 2 OE 472 31 6.6 27 87.1 0 0 0 S 1 0 6 9 0.00 | 0.00 4 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
# B ther £ 2 2 = 1,524 24 1.6 18 75.0 0 0 0 1 1 0 9 J/ 0.00 | 0.00 J/ 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B & 1,996 95 2.8 45 81.8 0 0 0 6 8 0 15 16 0.00 | 0.00 11 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
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BT A B B/A% C C/B% | RFELR R gf&% 3 1,2 AIS OFR | & L D/B% D/A% E F F/E% G G/F% | B4 | zo | EBE | ORI %L H/F% H/E%
BORor 2 OE 458 34 1.4 29 85.3 0 0 0 8 12 0 1 2 0.00 | 0.00 2 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
T A Thir £ 2 2 # 1,591 24 1.5 20| 833 0 0 0 4 4 0 4 8 0.00 | 0.00 10 0 0.0 0 0 0 0 0 0 0.00
w o2 B & 2,049 58 2.8 49 84.5 0 0 0 12 16 0 11 10| 0.00| 0.00 12 0 0.0 0 0 0 0 0 0 0.00
RO ¥ OE 930 65 1.0 56 86.2 0 0 0 13 19 0 13 11 0.00 | 0.00 6 0 0.0 0 0.0 0 0 0 0 O( 000( 0.00
gﬁﬁﬂ{% @E};ﬁ g 2 ¥ & 3,115 48 1.5 38 79.2 0 0 0 S 5 0 13 15 0.00 | 0.00 17 0 0.0 0 0 0 0 0 0 0.00
w o2 B % 4,045 113 2.8 94| 832 0 0 0 18 24 0 26 26 0.00| 0.00 23 0 0.0 0 0 0 0 0 0 0.00
BORo7 2 OE 893 31 3.9 22 71.0 0 0 0 1 12 0 5 4( 000( 0.00 5 0 0.0 0 0 0 0 0 0 0.00
BB B Thie £ 2 2 # 1,410 20 1.4 17 85.0 0 0 0 2 4 0 4 7 0.00 | 0.00 8 1 12.5 0 0.0 0 0 0 0 O( 000| 0.00
w =72 B % 2,303 51 2.2 39 76.5 0 0 0 3 16 0 9 11 0.00 | 0.00 13 1 1.7 0 0.0 0 0 0 0 O( 000| 0.00
R o7 % OE 1,111 64 5.8 47 73.4 0 0 0 2 14 0 21 10| 0.00| 0.00 23 2 0.0 2 0.0 0 0 0 0 2 0.00| 0.00
M W Ther £ =2 2 35 2,168 45 2.1 34 75.6 0 0 0 1 12 0 17 4( 000( 0.00 47 4 0.0 3 0.0 0 0 1 1 1 0.00| 0.00
w o2 B % 3,279 109 3.3 81 74.3 0 0 0 3 26 0 38 14| 0.00| 0.00 70 6 0.0 5 0.0 0 0 1 1 3 0.00| 0.00
R o7 2 E 368 19 5.2 18 94.7 0 0 0 1 1 0 1 3 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
B X THir £ 2 2 % 1,409 23 1.6 15 65.2 0 0 0 1 3 0 6 S 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w =2 B # 1,777 42 2.4 33 78.6 0 0 0 2 10 0 13 8 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
BORor 2 OE 2,372 114 4.8 87 76.3 0 0 0 4 33 0 33 17 0.00 | 0.00 28 2 7.1 2| 100.0 0 0 0 0 2| 000( 0.00
ig;%ﬁ @g.‘ﬁ% g R ¥ & 4,987 88 1.8 66 75.0 0 0 0 4 19 0 27 16 0.00 | 0.00 95 S 9.1 3 60.0 0 0 1 1 1 0.00| 0.00
R 72 B F 7,359 202 2.7 153 15.7 0 0 0 8 92 0 60 33 0.00| 0.00 83 1 8.4 5 71.4 0 0 1 1 3| 000( 0.00
BORor 2 OE 1,581 76 4.8 96 13.7 0 1 0 I/ 21 1 11 19 1.32 0.06 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
BE &~ i Thig & 2 2 & 1,783 48 2.7 41 85.4 0 0 0 3 13 0 14 11 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B % 3,364 124 3.7 97 18.2 0 1 0 10 34 1 25 26 0.81 0.03 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
BORo7 2 OE 1,458 64 4.4 99 85.9 1 1 0 4 17 0 20 12 3.13 0.14 28 1 3.6 1 0.0 1 0 0 0 0| 0.00 3.57
B F thhir £ 2 2 & 1,049 18 1.7 17 94.4 0 0 0 0 o 0 1 3} 0.00| 0.00 66 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B % 2,507 82 3.3 12 87.8 1 1 0 4 22 0 27 17 244 ( 0.08 94 1 1.1 1 0.0 1 0 0 0 0| 0.00 1.06
BORor 2% OE 948 22 4.0 21 95.5 0 0 0 4 5 0 9 3 0.00 | 0.00 15 1 6.7 1] 100.0 0 0 0 1 O( 000| 0.00
i B tHir £ 2 2 7 1,205 19 1.6 16 84.2 0 0 1 1 S 0 Y 2 9.26 0.08 27 0 0.0 0 0 0 0 0 0 0.00
w o2 B % 1,753 41 2.3 37 90.2 0 0 1 S 10 0 16 5 244 | 0.06 42 1 2.4 1] 100.0 0 0 0 1 O( 000| 0.00
BORo7 2 OE 1,337 64 4.8 91 719.7 0 0 0 4 15 0 20 12 0.00 | 0.00 65 4 6.2 3 75.0 0 0 1 1 1 0.00| 0.00
# A Tie £ 2 2 % 2,145 41 1.9 38 92.7 0 0 1 1 10 0 14 12 244 | 0.05 180 14 1.8 14 | 100.0 1 0 3 3 J/ 7.14 | 0.56
w o2 B & 3,482 105 3.0 89 84.8 0 0 1 5 25 0 34 24 | 095 0.03 245 18 1.3 17 94.4 1 0 4 4 8 5.56 0.41
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BT A B B/A% C C/B% | RFELR R gf&% 3 1,2 AIS OFR | & L D/B% D/A% E F F/E% G G/F% | B4 | zo | EBE | ORI %L H/F% H/E%
BORor 2 OE 47 4 8.5 3 75.0 0 0 0 0 2 0 0 1 0.00 | 0.00 3 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
A R HRBE £ 2 2 & 193 S 2.6 5 0.0 0 0 0 0 1 0 1 3 0.00 | 0.00 3 0 0.0 0 0 0 0 0 0 0.00
w o2 B % 240 9 3.8 8 88.9 0 0 0 0 3 0 1 4| 0.00| 0.00 6 0 0.0 0 0 0 0 0 0 0.00
BORor 2 OE 958 36 3.8 30| 833 0 0 0 2 6 0 12 10| 0.00| 0.00 9 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
A g £ % 2 o& 991 17 1.7 15 88.2 0 0 1 0 4 0 3 7 5.88 0.10 10 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w72 B # 1,949 53 2.7 45 84.9 0 0 1 2 10 0 15 17 1.89 0.05 19 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
BORo7 2 OE 124 2 1.6 2 | 100.0 0 0 0 0 0 0 2 O( 000| 0.00 8 0 0.0 0 0 0 0 0 0 0.00
;) B He & 2 2 & 256 1 0.4 1] 100.0 0 0 0 0 0 0 0 1 0.00| 0.00 14 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w =72 B % 380 3 0.8 3| 100.0 0 0 0 0 0 0 2 1 0.00 | 0.00 22 0 0.0 0 0 0 0 0 0 0.00
BORo2 2 E 6,053 268 4.4 218 81.3 1 2 0 21 66 1 14 23 1.12 0.05 128 6 4.7 9] 83.3 1 0 1 2 1] 16.67 0.78
?ngmﬁ{%@gﬁ g R ¥ E 7,622 149 2.0 133 89.3 0 0 3 S 38 0 46 41 2.01 0.04 300 14 4.7 14 | 100.0 1 0 3 3 1 7.14 | 0.33
#w = ® & 13,675 417 3.0 391 84.2 1 2 3 26 104 1 120 94 144 | 0.04 428 20 4.7 19 95.0 2 0 4 S 8| 10.00 | 0.47
R o7 2 E 2,157 95 4.4 81 85.3 0 0 0 8 36 0 20 17 0.00| 0.00 42 0 0.0 0 0 0 0 0 0 0.00
T+ B Thie £ 2 2 =& 2,691 42 1.6 32 76.2 0 0 0 2 14 0 6 10| 0.00| 0.00 o4 4 1.4 3 75.0 0 0 0 0 3 0.00| 0.00
w =2 B # 4,848 137 2.8 113 82.5 0 0 0 10 50 0 26 27 0.00 | 0.00 96 4 4.2 3 75.0 0 0 0 0 3 0.00| 0.00
BORor 2 OE 764 34 4.5 28 82.4 0 0 0 3 o 0 9 11 0.00 | 0.00 17 1 5.9 1] 100.0 0 0 0 0 1 0.00| 0.00
A [ Thie # 2 2 = 1,215 19 1.6 18 94.7 0 0 0 1 1 0 8 8 0.00 | 0.00 19 1 5.3 1] 100.0 0 0 0 0 1 0.00| 0.00
w o2 B # 1,979 53 2.7 46 86.8 0 0 0 4 6 0 17 19 0.00| 0.00 36 2 5.6 2 | 100.0 0 0 0 0 2 0.00| 0.00
BORor 2 OE 258 13 5.0 11 84.6 0 1 0 2 2 0 6 0 1.69 0.39 2 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
X B Mr Ee=2 32 3z 664 6 0.9 3 50.0 0 0 0 1 0 0 0 2 0.00 | 0.00 16 0 0.0 0 0 0 0 0 0 0.00
w o2 B % 922 19 2.1 14 13.7 0 1 0 3 2 0 6 2 9.26 0.11 18 0 0.0 0 0 0 0 0 0 0.00
BORo7 2 OE 699 28 4.0 26 92.9 1 1 0 S 6 0 6 7 714 0.29 10 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
f] R Hg £ 2 2 =& 883 17 1.9 11 64.7 0 0 0 0 4 0 3 4| 0.00| 0.00 22 3 13.6 3 0.0 0 0 0 1 2 0.00| 0.00
w o2 B % 1,582 45 2.8 37 82.2 1 1 0 S 10 0 9 11 444 013 32 3 9.4 3 0.0 0 0 0 1 2 0.00| 0.00
BORor 2% OE 483 16 3.3 12 75.0 0 0 0 2 4 0 1 5 0.00 | 0.00 7 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
75\-9‘_;;"__]75{56% g % 2 & 615 12 2.0 10| 833 0 0 0 0 3 0 4 3 0.00 | 0.00 11 0 0.0 0 0 0 0 0 0 0.00
w2 B % 1,098 28 2.6 22 78.6 0 0 0 2 7 0 5 8 0.00 | 0.00 18 0 0.0 0 0 0 0 0 0 0.00
BORo7 2 OE 4,361 186 4.3 198 84.9 1 2 0 20 23 0 42 40 1.61 0.07 18 1 1.3 1] 100.0 0 0 0 0 1 0.00| 0.00
éiﬁ & @gﬁ g R ¥ 6,068 96 1.6 14 771 0 0 0 4 22 0 21 27 0.00 ( 0.00 122 8 6.6 J/ 87.5 0 0 0 1 6 0.00| 0.00
w =7 # & 10429 282 2.7 232 82.3 1 2 0 24 75 0 63 67 1.06 0.03 200 9 4.5 8 88.9 0 0 0 1 1 0.00| 0.00
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BT A B B/A% C C/B% | RFELR R gf&% 3 1,2 AIS OFR | & L D/B% D/A% E F F/E% G G/F% | B4 | zo | EBE | ORI %L H/F% H/E%
BORor 2 OE 5,193 168 3.2 144 | 85.7 0 0 0 11 75 1 30 27 0.00 | 0.00 193 12 6.2 9 75.0 0 0 0 1 8| 000| 0.00
DK X g £ 2 2 % 4,223 75 1.8 69 92.0 0 0 0 2 31 1 12 23 0.00 | 0.00 149 6 4.0 6 | 100.0 0 0 0 1 5 0.00| 0.00
w o2 B & 9,416 243 2.6 213 87.7 0 0 0 13 106 2 42 o0 | 0.00| 0.00 342 18 9.3 15 83.3 0 0 0 2 13 0.00| 0.00
BORor 2 OE 768 37 4.8 30 811 0 0 0 0 16 0 6 8 0.00 | 0.00 13 1 1.7 1 0.0 0 0 0 1 O( 000| 0.00
o<‘i:__'?6l'\$§é g % 2 & 859 18 2.1 17 94.4 0 0 0 0 2 0 3 12 0.00 | 0.00 22 1 4.5 1] 100.0 0 0 0 0 1 0.00| 0.00
w72 B # 1,627 55 3.4 47 85.5 0 0 0 0 18 0 9 20| 0.00| 0.00 35 2 5.7 2 | 100.0 0 0 0 1 1 0.00| 0.00
R 2 A 5,961 205 3.4 174 | 849 0 0 0 11 91 1 36 35 0.00 | 0.00 206 13 6.3 10 76.9 0 0 0 2 8 000(| 0.00
é«iﬁ@gﬁ g R ¥ & 5,082 93 1.8 86 92.5 0 0 0 2 33 1 15 39 0.00| 0.00 171 7 4.1 7| 100.0 0 0 0 1 6 0.00| 0.00
#w = ® & 11043 298 2.7 260 | 87.2 0 0 0 13 124 2 o1 70| 0.00| 0.00 3717 20 9.3 17 85.0 0 0 0 3 14 000 | 0.00
R o7 % OE 832 36 4.3 35 97.2 0 0 0 3 16 0 11 5 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
;O Thig £ 2 2 & 4,837 85 1.8 16 89.4 0 0 0 S 23 0 28 20| 0.00| 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w2 ¥ & 5,669 121 2.1 111 91.7 0 0 0 8 39 0 39 25 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
R o7 2 E 610 34 5.6 28 82.4 0 0 0 S 6 0 8 9 0.00| 0.00 3 0 0.0 0 0 0 0 0 0 0.00
B W T £ =2 2 % 881 13 1.5 12 92.3 0 0 0 1 3 0 2 6 0.00 | 0.00 J/ 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w =2 B # 1,491 47 3.2 40 | 851 0 0 0 6 9 0 10 15 0.00 | 0.00 10 0 0.0 0 0 0 0 0 0 0.00
BORor 2 OE 467 13 2.8 11 84.6 0 0 0 2 4 0 3 2 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
) Ol T £ 2 2 % 2,159 35 1.6 31 88.6 0 0 0 1 9 0 7 14| 0.00| 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B # 2,626 48 1.8 42 87.5 0 0 0 3 13 0 10 16 0.00| 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
R OR ¥ OE 1,909 83 4.3 74| 89.2 0 0 0 10 26 0 22 16 0.00| 0.00 3 0 0.0 0 0 0 0 0 0 0.00
%ﬁﬁﬁ @E@ﬁ% g R ¥ & 1,877 133 1.7 119 89.5 0 0 0 )/ 39 0 37 40| 0.00| 0.00 1 0 0.0 0 0.0 0 0 0 0 O 000 (| 0.00
w72 B % 9,786 216 2.2 193 89.4 0 0 0 17 61 0 99 96 0.00| 0.00 10 0 0.0 0 0 0 0 0 0 0.00
BORo7 2 OE 507 28 5.9 23 82.1 0 0 0 1 13 0 7 2 0.00 | 0.00 7 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
T E Tie £ 2 B & 1,092 6 0.5 6 100.0 0 0 0 0 2 0 0 4| 0.00| 0.00 26 0 0.0 0 0 0 0 0 0 0.00
w o2 B % 1,599 34 2.1 29 85.3 0 0 0 1 19 0 7 6 0.00 | 0.00 33 0 0.0 0 0 0 0 0 0 0.00
BORor 2% OE 816 39 4.8 32 82.1 0 0 0 2 10 0 13 7 0.00 | 0.00 8 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w OB Thie £ 2 » & 1,275 10 0.8 8 80.0 0 0 0 0 1 0 3 4( 000( 0.00 J/ 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B % 2,091 49 2.3 40| 81.6 0 0 0 2 11 0 16 11 0.00 | 0.00 15 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00

BORo7 2 OE 488 18 3.7 10 55.6 0 0 0 0 3 0 6 1 0.00| 0.00 0 0 0 0.0 0 0 0 0 0| 0.00
IRk B Thig £ 2 2 # 2,005 42 2.1 34| 81.0 0 0 0 1 8 0 9 16 0.00 | 0.00 1 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B & 2,493 60 2.4 44 73.3 0 0 0 1 11 0 15 17 0.00 | 0.00 1 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
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BORor 2 OE 254 15 5.9 13 86.7 0 0 0 2 6 0 3 2 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
N\ F K H® £# 2 2 & 743 13 1.7 11 84.6 0 0 0 1 4 0 2 4( 000( 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B & 997 28 2.8 24 | 85.7 0 0 0 3 10 0 S 6 0.00| 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
RO ¥ OE 2,065 100 4.8 18 78.0 0 0 0 S 32 0 29 12 0.00 | 0.00 15 0 0.0 0 0.0 0 0 0 0 O( 000( 0.00
éﬁ‘{ﬁ x @E};ﬁ g R ¥ E 5,115 A 1.4 99 83.1 0 0 0 2 15 0 14 28 0.00| 0.00 34 0 0.0 0 0 0 0 0 0 0.00
w o2 B % 7,180 171 2.4 137 80.1 0 0 0 1 47 0 43 40 0.00 | 0.00 49 0 0.0 0 0 0 0 0 0 0.00
BORo7 2 OE 750 20 2.7 14 70.0 0 0 0 1 3 0 7 3 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
B A Thig £ 2 2 & 6,115 104 1.7 88 84.6 0 0 1 3 39 0 21 24 | 0.96 0.02 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w =72 B % 6,865 124 1.8 102 82.3 0 0 1 4 42 0 28 27 0.81 0.01 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
R o7 % OE 110 3 2.7 2 66.7 0 0 0 1 0 0 0 1 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
i £ HE & 2 2 & 472 9 1.9 J/ 77.8 0 0 0 1 2 0 1 3 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w2 ¥ & 582 12 2.1 9 75.0 0 0 0 2 2 0 1 4( 000( 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
R o7 2 E 248 10 4.0 9 90.0 0 0 0 0 o 0 3 1 0.00| 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
i) fiTe € 2 2 # 1,205 16 1.3 11 68.8 0 0 0 0 I 0 3 1 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w =2 B # 1,453 26 1.8 20 76.9 0 0 0 0 12 0 6 2 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
BORor 2 OE 1,108 33 3.0 25 75.8 0 0 0 2 8 0 10 S 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000 (| 0.00
gﬂ & @g.‘ﬁ% g R ¥ & 7,792 129 1.7 106 82.2 0 0 1 4 48 0 25 28 | 0.78 0.01 0 0 0.0 0 0.0 0 0 0 0 O 000 0.00
R 72 B F 8,900 162 1.8 131 80.9 0 0 1 6 o6 0 35 33 0.62 0.01 0 0 0.0 0 0.0 0 0 0 0 O 000( 0.00
R % ¥ & 35803| 1,510 42 | 1,253 83.0 S 9 1 128 480 2 357 275 0.73 0.03 808 32 4.0 27 84.4 3 0 1 8 19 9.38 0.37
i aTi® & = % # 71945| 1,233 1.7 1,075 87.2 0 0 9] o0 329 1 304 386 0.41 0.01 | 2,075 80 3.9 117 96.3 2 0 10 11 54| 250 0.10
#w = B #&| 107,748 | 2,743 2.5 | 2,328 84.9 o 9 6 178 809 3 661 661 0.58 0.01 | 2,883 112 3.9 104 92.9 o 0 11 19 69 4.46 0.17




